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T - IV (PART - IV)

TR (MATHEMATICS)
il < FTIIET ST 3 e 33 & forg el ORI R g

pirection : Answer the following questions by selecting the most appropriate option.

91. 4536 BUA I WM 4 your, 5 Heawsd 91. Rs. 4536 is divided among 4 men, 5
@ 2 deH F Rafa # o ¥ @ women and 2 boys. The ratio of
358, T Afear olX o @sd B sl _ shares of a man, a woman and a boy
WW7:4:3%,@(@H%ETW is 7:4 : 3. The share of a woman is
e R
(1) 324 %o (2) 168 %o | (1) Rs. 324 (2) Rs. 168
(3) 224 To (4) 336 %o . (3) Rs. 224 (4" Rs. 336

dius of 35 cm. How
B 1 o 92. A wheel has ara
i, 8 FEH 557% @Wm TFHT many revolution will it make to
g:ﬁ*?fq? cover 11 km ?
M 4800 (2) 4990 (1) 4800 (2) 4990
4) 5020
(3) 5000 (4) 5020 313000 (4)
36 F4 @ RQ 16 (SPACE FOR ROUGH WORK)
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5 2) (2,5
&y @2
% éhq~ﬂﬁﬁﬁﬂ ﬁﬂﬁm aﬂH 14
(1) 348 A (2) 442 a‘ﬂ
) 462 (4 478 ¥
@WWE@W**%W W3
A ¥ a7 o () A E
(1) 8 (2) 27
(3) 64 (4) 125
% oG B 5 99 A A @ &

363 T F 10% @ F A G e
T8 T g & R wfed @ g
A 8t 7

93. 'The coordinates of two vertice of 4
trianglc are (6, 3) and (-1, 7) ang
centroid is (I, 5) Then the
coordinate of third vertex is :

(1) (2,5) (2) (2. -5)
_£3) (-2.9) 4) (-2, 5)
94. The total surface arca of a s
hemisphere of diamcter 14 em is -
(1) 348 cm’ (2) 442 cm’

By 462 cm’ (4) 478 cm?

The volume (in cm’) of a cube, whose

95.
principal diagonal measures 443 cm, is -
(1) 8 (2) 27
_B3) 64 (4) 125

The price of an article is reduced by
10%. To restore its original price,
how much percentage increase must
be done in new price ?

96.

1

I
(1) 10% 2) 9—1% (1) 10% (2) 9ﬁ%
3) 11% (4) 2 Lo (3) 11% P 11-})—%
@ ?Er!f % R 7€ (SPACE FOR ROUGH WORK)
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[25]

‘ 30% B &2
o A ST g 9 30
qr wp ¢ @wiea ¥ oud offda e @
12% @™ 9T aiﬁﬂ %y é1 ER| g?“ W

aw ofea & B

7,

(2) 48%
(4) 64%

() 42%
(3) 60%

3
98, uﬁ':\'ﬁb‘éﬁmaﬁrg WT:;R:Ta

1
HW%W'B'G@WW-S'
a7 4 R & & gHar B, @

1
ks fopae T
ﬁw:ﬂﬁmwzm

q QU HO 7

(B]
97. A person buys a shirnt a 30%,
discount on the printed price and

sells it at 12
price,

% profit on the printed
Profit on  cost
percentage is ¢
(1) 42%

B3y 60%

98. If 'A' completes % of a work in 3

price  in

(2) 48%,
(4) 64%

1
days, 'B' completes g of the sam

work in 4 days. If both of therp wor
together, how much time will the

1
take to complete 3 of that work ?

] (1) 212 days
N 25 - )24) 2 days
(2) 2 &= 1
I (3) 37 days
3) 3= A
| zﬁ? (4) 4 days
4) 4 |
- % F4 3 [T € (SPACE FOR ROUGH WORK)
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[26]
99. The probability that in 4 H
Yoo

B HM . ‘
(B]) PR oy 4 #H a | children. there will be » leayy ey
#. Ij::-ﬂ A3 wha R | i< .
- | o
| (1) — (2) -
o) () ; 2 8
il ;
2 ) _' 2 (4) 7
S (4) é" | /y 4 8
4
100. A person bought 6 articlcy ¢ ,
oz ot s wT # 6 aF] GO © 100. Ap | | Xk
100. 7 and sold 5 articles for Ry ¢ .

0w A S g A B @
s ®

profit percentage is :

1) 20% (1) 20%
0
(3) 40%

(3) 40%
(4) 44% | \./(4) 449,

10 & 300 3 ey Al Froh Hemd B 101. How many numbers lie between |

101.
a4 & 9 33 W a9 Jvew 3 and 300, which leaves alwas
remainder 3 when divided by 47

' R 7 |
(1) 73 Q) 7 73 2) 71
B8 @mn | (3) 68 4) 72
T #14 3 U S8 (sPACE FOR ROUGH WORK)
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[27]

B
jz. ffarad 7 A B dufax am 102, Which of the following \..i.m,,(,,lh.».]
© fyaifra T8 B s gan 7 'l determined graphically 2
(1) Sga® (1) Mode
(2) HEd (2) Mean
(3) wifeas (3) Median
(4) ¥/ Hg el ;@’ None of these
03. ‘A’ F T W Ao N G % 4 103. '14}“3 probability that 'A’ hits a tare.
g B @ I@ @ & e @ 3 and 'B' hits the same target is 2
i 2 B, ot A @ T ST If each of them hits once. T
4 probability that target hit only one
gy omar B, @ aWt A F A | them is :

20 8 e g Ui T § 7

3 .
1 2 )3
6
6 \ (2) —
27y —
o 5 :
7 (3) —
3 4 87
7 (4) —
4) —
(4) 20 20

T Ent 2 BT STEGRDACTE FOR ROTICH WOARK)
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% o 104. If the altitude of ap equil

[B]

104, o o G9EE B Bl v triangle is V6 cm. Then it arcy .
&, a & BT € /(I)/'Z\."g cm’ )
(1 23 atﬁz (2) 2v2 om®
(@) 22 & (3) 3W3 em’
:j)) j://__j:: (4) 332 em’

1) 2:1
(3) 5:1
106. 3R oMY

105. 12 q9T 30 B gdrg @Y @ 9 @
25 & Ty R H AT ¢

105. The ratio of third proportional y, ;-
and 30 and the mecan Proportion.

between 9 and 25 4s

(1) 2:1 (2) 4 :3

(2) 4:3
(4) 15:7 _3) 5:1 (4) 15:7

A F n W F AN 106. If the sum of n terms of a geometr

Ve K 2 . - s
52" -1) & @ 9d 39 2 progression is §(2 1). then commee

(1)

19 | ~—

(3)

') | —

#

vel-2/210

ratio 1s

(2) z Pragh

o
—
—
-

i ) i (4) 3

% 34 & 978 (SPACE FOR ROUGH WORK)



102-

2

R 3 o o ghe o FffT o w
mﬁqﬁwaﬁx%#hxm
auﬁ%,a?rﬁwamaaﬁ%ﬁqﬁaﬁa
mm%,eﬁﬁ%ﬁf%mr%:
21 (223
325 @ (@) 19

Wﬁmrﬁ%%
%ga@wmmm:

(1) 2r @nﬂl (2) rzw
2
3) 27 ¥ @) = A

TF FIER @i @l
T B wie & X
AR 3.5 deX AR W TA
MW%IWEBTW%:

(1) 2100 & Hio (2) 2002 T Hio
(3) 2151 3 Ho (4) 205 1@t Hie

2

g 150 HieX
gl el #
1 frEr

108.

EAA_AN

107. If a solid piece of iron in the form ¢

a cuboid of dimensions 49 ¢cm x 33 ¢
x 24 cm is moulded to form a sol

sphere, then radius of the sphere is

)&21cm

(3).25:¢m

(2) 23.cm

(4) 19 cm

The area of the largest triangle 1
can be inscribed in a semici
whose radius is » cm, is :

(1) 2rem” @) r’em’

2 2 r2 2
(3) 2r" cm (4) ) cm
A side of a square plot is 150 m
Inside the plot, 3.5 m wide p
constructed all around the side
area of the path is :

(=
(=]
(I}

\.

(1) 2100 sq. m." (2) 2002 sq.

(3) 2151 sq. m. (472051 sq

@ & RT e (SPACE FOR ROUGH WORK)
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[30]
If the median is 20 angd cad
S

b
—

:

. N - 110.

1 i afy aifeas 20 g S qrf%?ﬁ: increased by 2. then new Megi,

o # i © .
(1) 22 (2) 18 Gy 24 G

(1) g aggs (2) g

(3) FAET TGS (4) IEd

If the diagonals of a Quadrij,
bisect onc another at right dnu
then the quadrilateral is -

(1) Trapezium  (2) Rhomby,

(3) parullcingr;il11yﬁ Rectangle

Two cubes cach of volume 64 .

112.

==

A g9 Rrad g% F AFaA 64 i
2 Ry A Rt % amwg # S R
AT L T e g 9w & IO

CECT

are jnmcd end to end. They

surface arca of the resulting gy,
15

() 140 ¢y

(1) 140
(2) 148 T (2) 148 ¢m
(3) 160 AF° 3 160 cm
(4) 176 w: (4) 176 cm’
% 4 % R 78 (SPACE FOR ROUGH WORK)
s U
-
ka-“‘*131
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724 R T R A
ﬁgiﬁmﬁewym
& T argfe® 9 q el
ar @ e 727 S B HirEBr
(1)‘6-
5
@ ¢
3) L
3) 3
2
(4)5

114. 10%, 20% T 25% dF A &l

===

113. A bag contains 24 balls of which x

are red, 2x are white and 3x are blue
balls. A ball is selected at random, the
probability that it is not red, is :

(1)

W |-

3

(3)

4)

Wi Wi

The single discourit, which is equ

FATA to three successive discounts of 10
® e ¢ 20% and 25%, is :
(1) 49.6% (1) 49.6%
46%
(2) 46% /czf)”
(3) 50.4% (3) 50.4%
(4) 52% (4) 52%
1% &4 % [0 @ (SPACE FOR ROUGH WORK)
A= ¥
¢
1 & 1 e <
T 2
ox 40 8o xS
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[B] ' 115. A number is taken from 1 o 100 -
8, 1 A 100 q% A a?ﬁ?ﬁ m%?ﬁ probability that it is a prime nul:-blhc
. mﬁqﬁ‘l . Cr.
%}g,qa‘,amwﬂ@’ 1 '
: (1) 5
) =
d 3
2 s
3 @ %
3 1
OF 7
6
6 ) o
4) 25 2 25
116, T 4x +3y—4=0 P JaORA ¢ : 116. The slope of the line 4x + 3y — 4 <
1S :
3 1 3
m 5 M7
4 4
) 2) =
(2) z /C) 3
4 4
3) — ¥ -
6) 2 &) 3
3 3
4) —= . 4) ——
) : (4) 1

W %4 @ R 57T (SPACE FOR ROUGH WORK)
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¥
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(33] (B]

o B & A a B et 12 Rl . uL 'A"and "B’ can do a picce of work i
nt 3 'JU q,{ﬂ %, a3 Hd H , 12 days, "B and 'C" can do in 1 ¢ dayy

1s fadt #, ¢ oo ‘A g =Y | Chand "A can do in 20 days How
16 fat ;g Hd %" SV S many days ‘A’ alone will fimsh the
‘;ﬂ ad @ Rt & qr s Y same work ?
3
(1) 30 (2) 20 AT 30 (2) 20
(3) 60 (4) 40 (3) 60 (4) 40
3
I d9r UH 2@ % aEr & 118. The radii of the base of a cylinder and
- fq:ﬁ?laﬂ FH TAd 3 4 qEr I a cone arc in the ratio of 3 @ 4 and
G:LEI'I'sﬂ.T & U 2 '. 38 a D their heights are in the ratio 2 - 3. Tner
3 2 | | the ratio of their volumes is :
AT B : |
12 9:8%
(1) 1:2 (2) 9:8 (1)1 27
(3) 3:4 (4) 4:3 (3) 3:4 (4) 43
i 19. Thc. measure of that angle which
qq A e T BT 119. - |
ue. @ & q;[% 2 four times its supplement s :
F AT A S, B A )
° ) 144°
(1) 36° (2) 144° (1) 36 Pl
(3) 155° (4) 180° (3) 155° (4) 180°

% %@ % fQ E (SPACE FOR ROUGH WORK)

Gov B
. g .
NS (9 H/i}i}l‘aﬂ .

!1%( 3o ‘“}i"(? d\
e yx 3 X8 X

A, 1o X 3X%
A= Yt ! U XA Y?
180 ‘a6 {

/? Yo &‘;‘?

T

(¥

‘f.
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120. The length of tangent, drawn from

o 3% a8 A% T
120. 6 ot fByowr ad @@ 39 P point 8 cm away from the Centre Ol_a
it g w e @ a circle of radius 6 cm is : 3

e & ek ¥ D) VT em 2y TfT o

() V7 a2 2J7 @
@G) W7 aR  (4) V7 @ =

~9)
121, g 20+ (p+2)x+(p
-2 daar (x+1) H
R dwwdt a1 A g A L, A p

3) 37 em  (4) 57 o

21. The sum of the remainders Oblained
when polynomial 2x3 4 (), 2x.
(p—2) is divided by (x — 2) and Whe,
it is divided by (x + 1) is (. Then the

ok value of p is :
(1) 3 (2) -2 (1) 3 (2)-=2
3) -4 (4) 6 B 4 4) 6

122. If the difference of mode and Medig
is 36, then the difference of Media

122. AR gaH qur AhgE @ e 36
8, o Mg o a7 o B

and mean is :
(1) 12 R 12
3) 16 3) 16
4) 22 (4) 22
. i W 1 3 R Y€ (SPACE FOR ROUGH WORK)
Mot = xmiobian =@ Moy - ¢
. Calliy
\ ~
Mody - Medaer =3¢ 1
¢ +Msian = IMudian - & mian. |
)8 /S

Gbt 240 16+ (g, C‘ |
*(p-2y 3p

-2/210
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o T4 T YT 3 ATE T @ dan

A
¥

125

(1) 9
(3) 11 (4) 12

(x" =y") . (x— 1) A P #rft ¥,
A9 o F AR

(1) T% 79 Hea

() uF faew dem

() UF HWTR HEN

(4) T A1FAa Hen

(2) 10

= wEgar ByE & smar 12 wh
y o EE GG 3D il Bo&
grgmt

[4) Bl &:ﬁ

@

addazyt.

he SUIII ‘.“ lllkt-li.)r iingk i
.Y 1 .

olvgon is 5
P‘ YEON 15 1620 Then NUinhy
sides of the Polvgon ; -

18 -
(1 9
)}k‘l]

124. (x" -7y s divisible
then the value of n i -

Wil
(2) 10
) 12

Ly

(1) an cven number
(2) an odd number
(3) a pnme number
_{3+ a natural number
125. The basc of an isosceles triang
12 ¢m and 1ts perimeter is 32
I'hen the area of 1sosceles triangl

(1) 42 ¢cm
VQ; 48 cm’
(3) S4¢em
() 60cm

L 7



[B]

126.

8

[36]

@mﬁwﬁgﬁwcﬁcwwﬂﬂ
%,?Jﬁ'tanA=l,€'?fsinAcosA55T
qq 8 :
(1) 1 1
2) 5
1
(3)5 “4) 2
27. 8 % §oT B TF AN B T A A I
@%ﬁgaﬁ,%ﬁmﬁ$1
Fre Rrar o B, A g@ﬁ’
gfEg ® §§ .

(1) 28 &t @) 30 ¥f
@) 32& @34

Wwﬁﬁw 5
S5 77 o 4 2
¥ ©d 26 @ E, o wEaw A

H AP & :
(1) 1620 ¥’
) 1642 &
(3) 1644
4) 1648

126. .
angle 18 at

ht angled triangle ABC, right
c. iftan A~ 1, then value

Ais:
1
A5

“4) 2

In a rig

of sin A €OS

(11

\/6?}—
2
From one €

127.
g8 cm, a small s

cutoff. Then t
remaining f1gure is :

orner of a square of side
quare of side 1 cm is
he perimeter of the

(1) 28 cm (2) 430 cm
A0} 32 cm (4) 34 cm
f a trapezium are

128. Two parallcl sides O
60 cm and 77 cm an
are 25 cm. and 26 cm,

d other two sides
then area ol
the trapezium is :

(1) 1620 cm’

(2) 1642 cm’

‘)})/ 1644 cm’

(4) 1648 cm’

l

W % T 578 (SBAGE FOR ROUGH WORK)



i}mmmﬂﬁ%%% (37] ‘ (B)
1 I‘l;i-tj‘]‘ Ferm e | 129. Which one of the tollowing
7870 statements is false tor the t‘uHm\in;-

pair of lincar equations ?

ax+by-c =0

ax+byv-c, =0

(!1 b -‘-'a }@ﬁ
; s e : - I
; ) T (1 4 ?"— = “L _then the hine
g as » O

will be comncident

i:) qﬁ ji- 7 ____l_ )
ay " b, M@ gy | |
) ' ' (2) If 4 . —:1 then the lines wa
-

intersect cach other

a
AR A_b & e
- MALaL /Eh T -2— “then the lines will
a-

-

S T
INICrsSCy !H'l!:

o @< -y ! |
| a, by ’ "a a & it :i' t:. 5 i‘ . then hines v
be parallcel



[B]

130, 4 R A( 3.9). Ba b T (4, -5
auydt Ao o« b1 B, @A M
hF q B
(MWa=2.b=1 2)a=20b I
(3) a 2.6 1 (4) a 2.h=-1

131, 0% s @ P @ oFgaa 50307
R, B R
(ans:g@whga
(2) uF A or Y
(3) TF AHHT Y
H)@ﬂmgfaga

32. 9 oM weAr d-A & fred 8788

F RAbE F® W oG e &

9ot 99 & e ?
(1) 3 2) 4

(3) 5 @) 6

(38]
130.

It the points AC 3. 9), Bla. b) ang
C(4, -5) are collincar ¢

then the values of @ and b arc :

mda + b

2, b |

(1) a=2 b=1 a

(3) a~ 2.b=14)a 2, b= 1

The angles of a triangle arc in the

ratio5:3: 7. Then triangle is :

k1) an acute angled triangle
o~

(2) an obtused angled triangle
(3) aright angled triangle
(4) an isosceles triangle

What is the smallest number by
which 8788 must be divided so that

the quotient will be a perfect cube ?

s P

g 3 (4) 6

% %14 % U e (SPECE FOR ROUGH WORK)



d@m680621ﬁ‘q€ 5 o
W ) @& SeN
ﬁm%ﬁa%;w%@@
(1)5
) 6
3) 4
“ 8
@ & U | §E
. T 3 B 850 et
%WWWW%’QW
£ FE §

(B]

. What is the least number which is

added to 680621 to make the sum a
perfect square ?
(15
(2) 6
™ L
(4) 8

The angle of elevation of the top of a
tower from two points at distance d
and b metres from the base and in
the same straight line with it are

complementary, then height of th
tower is :

oty Jab
@) 2-ab
(3) ab

134.

a2 =

4) %ab

) 7
<% 31 & RQ oe (SPACEFOR ROUGH WORK)
a Y



(1) 14 ) 15

(3) 16 4) 18

136. @ WY HEAW x Ty (x > ») F
g g 161 &, @ (x — )

a2
(1) 9 @) 13
(3) 15 4) 16

s mean of the fO”BLV“‘_gﬂila is -
‘he meall ,

135. |
(1) 14 2) 15
@ 16 (4) 18

136. The L.C.M. of two prime numberg
and y (x > y) is 161. Then the val

of(x—y)is:
(1) 9 () 13
(3) 15 _#16

% #4 % [C 5 (SPACE FOR ROUGH WORK)

< [ ]



#&

g W, g
2 - (2)3
R .

Gk+Dx+3y-2=0

k2 +D)x+(k=2)y -5
(H 1

(2) -1

(3) 2

(4) 6

137. In what ratio iy (e segmen

B}

a l 3 LY ,
the points (4, 6) and (9 10Iing

- 1) divide
by x-axis ? ) divided
(1) 1:6 (2) 62

138. The lcast number must be subtracy.
from cach of numbers 14,17 34
472. so that the remainders may

proportional, 1S :
(3) 5

139. For what value of k, the syste
linear equations has no solution

(2) 3
(4) 7

3k +1)x+3y-2=0
(k2 +)x+(k=2)y-5=0
(1) 1 |

7y 1

(3) 2

3% Fd & [ e (SPACE FOR ROUGH WORK)

. . Y



[B] [42] =1 ia *
| form of 0.001 15

140. T&T 0.001 & 9RAF &9 ® :

1 (n L
] —_

(1) 99 99
100 100
@ 5 @) 59
3 L
( 999 999
100 100

4) —= .
“) 999 @ 999

142, :@ﬁ (-4, 7) @1 (2, -5) & wex gl 141. The distance between the points (-4,

and (2,-5) is :
(1) 5v6 g7 (1) 56 units
2) V56 g 2) /56 units
(3) 45 @8 | (3) 45 units
4) 6v5 7w /(ﬂ 6+/5 units

% %% Y 57 (SPACE FOR ROUGH WORK)

10 -



[43]-
Seca+tanq\

%31
’ g P E?f & lan o &y 142. 1f sec o + tan o = p, then the .
W mﬂ ‘ .
=] of tan « is -
2
)X) 2p
2—1
P
2) 2 3y L=
p-+1 | p -
2p
(3) 2__1 p _1
2_1 2—1
p g
4)
Chral oy

qﬁ e jﬁ R ﬁiﬁuﬁ %t W]‘sﬁ 143. If the diagonals of a rhombus are

hen th
24ﬁ®10waﬁfw 24 cm and 10 cm..Ten ¢
LG e perimeter of the rhombus is :

Pl ' ,

1) 48 cm
(1) 48 T (1)

52 cm

() 52 &t A2)

(3) 56 cm
(3) 56 I

(4) 60 cm
1) 60 FF

UGH WORK)
;q;ma,‘faqm(spnczronno e Ak



[B]

144. 98 TE@N RrgeH sywaa wak Sadr,

44] soims
[ whose decimal CXPreg;

nL]I]]bcra
144. A .rminating. non-recurri,,
2 pnon-termine g fing i

Sadt dar §, Fearar | called :

(1) gRAg
(2) syafyg
(3) WA Tur Sty JHf

(4) T a 9fFg 7 & eRig
145. A ¥ =p" =c" qor p2=qc @, A 145.

Y H AT E

(D 2xz
X+z

) Xz
xX+z

3 xz

3) 2x+z

@ 3xz
X+ z

(1) Rational

/{z)\ [rrational

(3) Both rational and irrational

4) Neither rational nor irrationg|

If a* =b” =c” and b*> = ac, then the

value of y is :

2xz

c/m x+z

XZ
X+z

(2)

Xz
2x+z

(3)

3xz

4)

X+ z

W & % [ e (SPACE EOR ROUGH WORK)



7 @ BT § o l

p ™
% % 9T 108 H

BRLIC I
£ TT97 W Ay g !
(2) 44.2 W

(3) 45.2 F

(4) 46.2 atﬁz

41qﬁ.cose+5ine=

V2
Vcose_sine W‘TH%: . e’ar.

(I) \/Etan 0
(2) \/ESin 0
3) V2 cot 6

(4) V2 cosec 6

) | | [B)
= N a circle of radiug 7 cm
6 » an ar

C
subtends ap, angle of 1ggo

at the
centre. The areq of the sector ig -

(1) 432 cm?
(2) 442 cm?
(3) 452 cm’

/(rz(ﬂ6.2 cm?

147, If cos © + sin 8 = /2 ¢cos 0, then
the value of cos 0 —-sin 9 is -

(1) V21tan 0
,/QT V2 sin 6
(3) V2 cot

(4) V2 cosec®

% %4 % P 578 (SPACE FOR ROUGH WORK)

P.T.C



6 . . . .
[ .. .[461] Which of the following €quatiopg hag

148, ﬁw!‘f‘ﬁwﬁﬁ‘ﬁ%ﬂwﬁ ﬁ&nﬂealrom?
T i 727 & 7 ) x2—4x+3J2=0
(1) .\‘2—4,\'+3\/§=O @) x2+4x;3\/5=0

2) .r'2+4x-3\/2_=0
() x*-4x-3/3-¢
(4 3x*+483x+4=¢

(3) x*-4x-3J2=0
(4) 38" +43x+4=0

Ifcot9+cose:p and COte‘Cose:q’

149, i » . 149. _
o ;Tta:i;)tfpz?j]g) ‘:Frwac;t%e- =l then the value of (p2 = qz) 1S :
(1) 2pq €.
(2) 4pq (2) 4pq
3) 2\/pg (3) 2yJpgq
@) 4pg A 4z
150. By ABC § o4 - 66°, /B qul 150. In AABC, ZA = 66°, the intery
£C % aafe H¥FH, O W giyde bisectors of /B and ~/C intersect g
CIG] g ar <ZBOC &7 A1 § - ' O. The measure of #/BOC is :
(1) §7° (2) 114° (- (2) 114°
(3) 123° (4) 130° c3) 123° (4) 130°
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